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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.
Answers are to be given on the answer-sheet, which combines both the
tests : , _
Please write your Centre Code and Seat No. very clearly (only one digit in
one block). Before writing your Seat No. get it ascertained from the Centre
Conductor. Please see that no block is left unfilled and even zeros appearing
in the Centre Code and Seat No. are correctly transferred to the appropriate
blocks on the booklet and on the answer-sheet.

Example :

CENTRE CODE #gwaa®w| M| H

SEATNO. smm"edi® (3 /3(9(11 6

For all subsequent purposes your Centre Code and Seat No. shall remain
the same. Centre once allotted will not be changed.

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question
paper before beginning to answer it.

Begin with the first question and keep on trying one question after another -
till you finish. _

If you do not know the answer to any question do not spend much time on

it and pass onto the next one. Time permitting you can come back to the

questions which you have left in the first instance and try them again.
Since the time allotted is very short you should make best use of it. The rough
work is to be done in the box given under each page.

Remember you have to mark on your answers in “General Mental Ability
Test” section of the answer-sheet only.

Answer to each question is to be indicated in the answer-sheet by encircle
by black pen in the appropriate number of alternative in the answer-sheet
from amongst the ones given for the corresponding question in the test booklet,
Do not write anything except Centre Code, Seat No. and rough work anywhere
in this booklet.

(10) Now turn to the next page and start answering the questions.
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GENERAL MENTAL ABILITY TEST
39966769796697T79667

the above number series how many times 9 has occurred in between 6

d7?

One time (2) Two times
Three times (4) Four times

526463636865T764

the above number series how many times an even number is followed by

and an odd number is preceded by 6 7
One time (2) Two times

Three times (4) Four times

» 8.+ Directions : In each of the following questions, find out

arm which matches the given group.

JE, JQR, PKL
RJK (2) HST
LON (4) VET

SPACE FOR ROUGH WORK

4. | IJ, CP, RA
(1) OP (2) MF
(3) DL (4) AQ
5. ABB, CDL, BCF
(1) DEP (2) BGM

(3 ECO . (4) BLZ

6. {1:! 336 _ 2 210
(3) 126 (4) 504

T.- (1) 208 (2) 285
(3) 323 (4) 437

Q. 6 to 9. Directions : Find the odd term out.

-MS-GMAT |VIII| G15|[42 of 80 .
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. Q. 12 to 14.—> Directions : In the following questions there is a specific
ark. ' relation between the first and second figure. The same relationship
exists between the third and fourth figure which will replace the question
F 5 . i \ mark. Select the correct figure from the alternatives given below each
; question.
D 21 | 18 K
: ] "o L] '?
6 13 |‘]i [J J'*Jl][i . .
U 8 ? N |
A | { | L 18 1]]]
. i ‘ ‘| ;
L) R P : :
13 10 ; '
SPACE FOR ROUGH WORK : 4 SPACE FOR ROUGH WORK
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15. Statement — Some parrots are crows.

b . .o % . 4 All crows are peacocks.
» LN L .

Conclusion — (a) All peacocks are parrots.

? @ Q 6 (b) Some peacocks are parrots.

T | (e) Some crows are peacocks.

(1) ‘- (2) -{3} (4) (d)  All parrots are peacocks.

Choose the correct conclusion from the following :

(1) a (2) &

@) ; > ; 3 ¢ _ (4 d

>

Q. 16 to 18. > Directions : Which number will replace the question

mark in the given series.
16 2, 5,12,27: 7

: 1 50 - e Y
(6% @) @ ) | :
| 3 58 _ @ 121
SPACE FOR ROUGH WORK 1 SPACE FOR ROUGH WORK
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i, 88, 112, 24, 30, ?, ?

)y 129 (2) 23, 17
)y 34, 29 (4) 24, 18
392, 1296, 432, 216, 72, 36, 12, 6; ?

) & (2) 4

3 4) 2

r

& 20, }—> Directions : Arrangement of letters or numbers is given

proper manner. Choose the correct alternative from the series of

rs or numbers.
-pja— —sp— —mks—j
[) = skmajp (2) apjsmk

3) ° ksmjap (4) smkjap

SPACE FOR ROUGH WORK

01—10— —101—0010

() 0101 (2) 0011
(3) 0000 (4) 0010
Choose the correct alternative that will replace the question mark in the
given series.
OAOME, 2OAOM, MEOAO, ?
) OMEOA (2) OMOJaA
(3) ORMOA (4) OM&EA

Q. 22 & 23. |—> Directions : In the following question the given figure

is incomplete. Select the correct alternative which can complete the

S-MS-GMAT | VILI| G15]|48 of 80

figure.
22,
O
O
O O )
O O
(1) (2) (3) (4)
SPACE FOR ROUGH WORK
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g E ; 25. How many students like Drawing and Music but do not like Tabla ?

? l g l ' 1 17 2 12
" |
1 |
L l (3) 40 (4) 55

(1) (2) (3) (4) X

» 26.}—> Directions : In the following figure, students from a 26. How many students like only two arts ?
vho like Drawing, Music and Tabla are shown respectively by
triangle and a square. Numbers written in different sections of 1) .45 o) an

igram indicate the number of students belonging to a particular
ry. Observe the figure and answer the following questions.

ey

(3)- 30 4) 27

Q. 27 to 90,1 Dirsctions = Find the odd term ol

21
% 27. (D PLM @ EQK
/ 5 ( 12\ | (3)  DZO (4) LXR
24 !
|
| 28. (1) J—g R
# many students do not like Drawing ? J
37 @ BT P i AR
61 4) 52 | T D
SPACE FOR ROUGH WORK & SPACE FOR ROUGH WORK
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32. Question Figure

JKP (2) CDW °
Al || Sl
KLO (4) THR O l O I et
LPMON (2) XDYAZ (1) (2) (3) (4)
Q. 33 & 34.—> Directions : The following figure is folded to form a
cube. Observe the cube and answer the following guestions.
DHEGF (4 RVSUT

% 32. — Directions : In each of the following questions one |
L5 _ - 1 4
ion figure is given to the left. How will the reflection of the given -
5 2
» in water look ? Select the correct alternative.
6
iestion Figure Answer Figures 33. Of the following cube figures find the relevant figure.
#
ol oRYs Tonle hD A | OREl E: fz
3 (2) r
OVt OAt oVt oV} Ot 1
v 4 F
(1) (2) (3) (4) (3) 6 (4) 2 6
SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
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L -

(1)

(3)

1,

4

Q. 35 to 3T.

84, Which number will not be on the adjacent surface on which 2 is written ?

(2) 3
4) 6

Directions : There is a specific relation between the first

term and the second term. The same relationship exists between the

third and the fourth term. Select the correct alternative.

(1)

(3)

36. 42 :

(1)

(3)

-

=i By

16

20 °

81

92

: 30 : 7
(2) 18
(4) 23
P
2y 990
(4) 100

37. 15:37::?:79
1) 29 (2)
(3) 50 (4)
Q. 38 to 41.

in the given series 7

38,

NLP, QIS, TFV, ?

(1) WBZ (2)
(3 WCY (4)
MNAZ, LOBY, KPCX, JQDW, ?

(1) IREV (2)

(3) GTHS (4)

37

23

—> Directions : Which term will replace the question mark

WEU

WDC

HSFU

EVIR

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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iY, DEV, GHS, ?

JQ (2) JKP
QPK (4) JQP
P, IRS, FUV, ?
T 1 (2) CYX
) CXW (4) CXY

& 43. l—sDirections : Three different positions of a cube are shown

e following figures. Observe the figure and answer the following -

ions :

hich digit will be on the opposite face of 2 ?
R 2) 3

) ¥ 4 4 1

SPACE FOR ROUGH WORK

43. Which digit will not be on the adjacent face of 5 ?

(1) 2 2y 3
(3) 4 4) 6

Observe the following figure and write the digit that will be on the opposite
face of 5.

3 -

4 |3 9 |3
1 1 @ 2
@ 3 i d

In the following question, in each row there is a special relation with a number
in the bracket. What number will replace the question mark in the given
question 7

92(28)161
114(30)95
51(?)136
1) 24 (2) 42
(3) 67 4) 85

3-MS-GMAT | viil| G15][56 of 80
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—> Directions : In the following square numbers are written

Q. 46 & 47.

with specific rule. According to that rule which alternative will be

in place of question mark ?

46. 10 170 ?
50 530 5
290 26 362
(1) (2) 122
j— (3) 226 (4) 442
]
i: _ 47. 15 | 64 | 128
| 13 | 56 | 112 |
? 52 | 104
(1) 16 (2) 14
3 12 (4) 11

Q. 48 & 49,

the correct alternative to answer the questions.

Find the number of trapeziums in the above figure :

(1) 6 2) T

3 8 ; (4). 8

Find the number of triangles in the above figure :

(1) 9 (2) 10

3) 11 4) 12

—> Directions : Observe the following figure and choose

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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T e i e

50. Suresh told Shyam, “When you were born, I was as old as you are today.”

If Suresh is 36 years old today, how old was Shyam 5 years before ?
(1) 13 2) 15

(3) 17 4) 20

Q. 51 to 53.—> Directions : In each of the following, the question figure

changes in a definite way. Find out the correct figure from the alternative

figures that replaces the question mark.

L
»a

<l <— || —e || <HE—

.e
" e
LK i __ - e

(1) (2) (3) : (4)

SPACE FOR ROUGH WORK

5

GOl B Pl B
NSNS |
N || IS | IN! || 1N

(1) (2)

(3)
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a code language ALGEBRA = 46, then in the same language

OMETRY = ?
104 (2) 107
108 (4) 117

a code language SANKET = 35, then in the same language how will you

ite the word PRIZE ?
97 (2) 37
70 : (4) T4

a certain code language TALENT = ATELTN, then in the same code
aguage SEARCH = ?

)  ESHCRA (2) ESRAHC

) SHECAR (4) SACERH -

SPACE FOR ROUGH WORK

Q. 57 to 59. —> Directions : In the following figure, a block of

ﬁcmxdcmxﬂcmispaintedwithamlﬁur.ll'itiseutateverjr
1 cm, then there will be blocks of 1 em x 1 em x 1 em. Answer the
following questions :

S
Vil A

i A 5
R S T

57. How many blocks are there painted only two faces ?
(1) 32 (2) 24
3 22 (4) 20

38. How many blocks are there painted only one face ?
(1)° 16 (2) 20

3 22 ' (4) 24
SPACE FOR ROUGH WORK
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v many blocks have no side coloured ?

6
10

L

(2)
{4)

8
12

62. —> Directions : Find the odd figure.

oo olo Oeleo 00
oe Lo olo ®0

® o |O 0 |0 0 0|0
o O9 (@0 ole oele o]

(1)

(3)

(4)

&

$r

(1)

(2)

(3)

(4)

N

(1)

(2)

(3)

(4)

Q. 63 to 65. —> Directions : In the given questions there is a relation

between Column I and Column II in a code language. The expressions

in Column II are not arranged in the same order as letters in

Column I Find the code language and find the correct alternative

for the words given below

63. TUNE = ?

Column I

WON

BEAT

ouUT

END

Column II

SPACE FOR ROUGH WORK

-MS-GMAT

G156

64 of 80

(1) 9428 (2)
(3) 2489 (4)
64. WET =7
(1) 729 (2)
(3 T13 (4)
SPACE FOR ROUGH WORK
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BOND = ?
Jd) 5396 (2) 5386
3) 2786 (4) 3862

3 to 68. > Directions : Find the correct alternative which will

lace the question mark.

12 10 : 15

78 102 92 38 67 — ?
1) 50 (2) 64
3) 79 (4) 83

28 26 43

63 19 55 18 29 ?
1) 24 \ (2) 27
3) 31 4) 34

36

9 64
5 A A
49 4 1 a1 25 16

(1) 160 (2) 122

(3) 105 _ (4) 80

Q. 69 & 70.—» Directions : Choose the mirror image of the ‘Question
Figure' from the given alternatives.

69. Question Figure Answer Figures

SO EODE RO A EEODA KOD)

(1) (2) (3) (4)

T0. Question Figure Answer Figures

ot |0 |t 00 [ea( |80

(1) (2) ' (3) (4)

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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to 74.1—> Directions : In a code language the word SHRAMIK

itten in four different languages. Observe the code language given

v and select the correct answer.
"ord Code language

HRAMIK = (1) HSIZNRP

(2) QJPCKKI
(3) TISBNJL
(4) RHQALLJ

'ARMER = EAQMDR

'RICE = KIRXV

JOMRED = AQKTCF

ATION = SBUJPO

SPACE FOR ROUGH WORK

S-MS-GMAT |VIII| G15{|68 of 80

[Q. 75 to 77.}—>Directions : Observe the following pyramid of alphabets

and answer the following questions :

b e d
e f g h 1
j El mnop
g r 8 tLtu v w'x ¥y

75. bgl:dgn::els:?

(1) fmt (2) hmv

(3) inw (4) din
76. qjs, slu, unw, ?

(1) wpy (2) wvox

(3) ypw (4) nwp
Ti. jlb:pnd::qse:?

(1) xvh (2)  ywi

(3) iwy (4) hwvx

SPACE FOR-ROUGH WORK
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he door of Sudhir’s house faces North. Sudhir started from his house, turned
ght and walked 3 km. Then he turned left and walked 6 km. Again he
wned left and after walking 3 km, turned right and walked 2 km and
sached a ground. How-far is the ground from Sudhir’s house and to which
irection ?

1) 6 km West (2) 8 km North

3) . 9 km East (4) 6 km South

iix boys A, B, C, D, E, F are sitting on the vertices of a hexagon facing

he centre :

t) E is sitting in between A and C

if) C is to the right of E

iii) B is not sitting to the right of F,
hen who is sitting opposite to D ?

1y F 2 E

3 B 4 C

SPACE FOR ROUGH WORK

Q. 80 to 83.

—> Directions : In the following questions, there is a specific

relation between first and second number. The same relationship exists

between the third and the fourth number which will replace the question

mark. Select the correct alternative from the alternatives given.

[S-MS-GMAT | V1II| G15]|70 of 80

80. SMILE : SIEML : : CROWN : ?

(1) COWRN (2) CONWR

(3) CORNW (4) CONRW
8l. GAK:CEG:: MRP : ?

(1) HNM (2) QNT

(3) IVL & (4) JWK
82, AMK : PNZ:: DGM: ?

(1) WIN (2) NTW

(3) SHT (4) LBW

SPACE FOR ROUGH WORK
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NTSE : JQQD : : HSCB : ?
(1) IUFF- (2) GQZY
(3) LVEC (4) DPAA

84 & 85. —>Directions : Jay started from ‘A’. After walking 15 km

East he turned left and walked 10 km and reached Rohan’s house.
ter walking 10 km to West he turned left and walked 22 km and

ached Pranav's house. Answer the following questions :
How far is Jay from ‘A’ and to which direction ?
(1) 15 km Scuth (2) 22 km S-nuth-fe&st
(3) 12 km South-west (4) 13 km South-east
To which direction is Rohan's house from Jay’s house ?
(1)  North (2) Nurth-.?ast

(3) East (4)  North-west

SPACE FOR ROUGH WORK
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out the terms which matches the given group.

86. 4, 16, 32
3,9 27 2 1,2 4
(3 b5, 25, 50 4 2,8 4

87. 7497, 5255, 9819

(1), 8468 (2} 6726

(3 3273 (4) 4164

88. 23, 29, 37

(1) 13, 15, 23 2 17, 21, 29

(3) 31, 37, 49 (4) 41, 47, 53

Q. 86 to 88. Directions : In each of the following questions, find

SPACE FOR ROUGH WORK
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to 91. —> Directions : The following questions consist of a number

s containing one wrong term. Find out the wrong term from the

natives given below.
9, 20, 41, 90, 185, 376
). 185 (2)
) 41 (4)
4, 7, 11, 18, 29, 47, 76
(2)
A B '[4}-
7, 21, 27, 35, 45, 59, 71, 87
) 35 (2)

D) 45 (4)

90

20

T1

59

SPACE FOR ROUGH WORK
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Q. 92 & 93. —> Directions : In the following question figure a

transparent paper.is folded along the dotted lines. What figure will

be obtained ? Find the figure from the alternative figures given.

92. Question Figure Answer Figures
L] ™ . & | ™ |- ; ®
sleli a [eee |* s 9
°* | . | Il o | e
(1) (2) (3} (4)
* 98. Question Figure Answer Figures

©

(1) (2)

(3) (4)

Q 94 & 95. —>Directions : Seven books, Mathematics, Hindi, Marathi,

Science, History, Geography and Economics are kept on a table one

over the other. Geography book is under History book but it is above

SPACE FOR ROUGH WORK
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o

.athi book. Economics book is above History book and Hindi book
wer Economics book, but it is not on the top. Mathematics book

mnder Science book. Answer the following questions.
Which book is at the bottom ?

(1)  Economics (2)  Geography

(3) History (4)  Marathi

If the positions of Marathi and Geography books are interchanged, and
positions of History and Economics books are interchanged, then which

book will be at the centre ?
(1) Hindi ; (2) Economics

(3)  History (4)  Marathi’

SPACE FOR ROUGH WORK

MS-MS-GMAT | VIII| G15||76 of 80

Q. 96 & 97.}— Directions : Hemant, Sharad, Ajay, Shishir are good

friends. Hemant and Shishir are good in swimming. Ajay is interested
only in eli;uutiun and dance. Only Sharad is expert m treking and
is good in two skills. Exgeyt Sharad all are experts in dance,
Shishir, Hemant and Sharad are good orators. Answer the following

questions :
96. Which skill Hemant is not having ?
(1) Swimming (2) Treking
(3)  Elocution (4)  Dance
?‘?. Which two skills Ajay is having ?
(1) Swimming and Treking (2) Ellncutiun and Dance

(3) Swimming and Elocution (4) Dance and Treking

SPACE FOR ROUGH WORK
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to 100.}—> Directions : Observe the pyramid of numbers and

7er the following questions by choosing the correct alternative.

) e b T B |
16 ' 1T (18 19 200
92 23 24 2% - 26 27T 2
' 4,8 12:10,6,9,14::2,65,8,12: 7
1) 10, 14, 20, 27 @ 3,509 14

3 6,9, 14,20 (4) 4, 8, 12, 17

(1) 13,9, 14
2) 14,9, 13
3) 10,6, 9
4 6,95

17,24, 18 : 7, 4,8 ::20, 26,19 : ?

100. 11, 22, 24 : 15, 28, 26 : : 4, 8, 12 : ?

(1) 86,9, 14

(2) 10, 14, 20

(3) 15, 20, 27

4 3,6,9

SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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